00000 I1d00d No.l1

120 16000
ooooooor

82 00O OOUO

00 206 (1pt.) ROOOOOO0O0O0 VOOO {zy,...,o} (k0000)00000000. O
00 vVOoOOOOOoo0o000 {x,...,2}0000000000000000000. 0000
¢cV00000D0D00000,0000000000000000000000

/ / / /
r=cx1+ -tz =c1T1+ -+ Ty, C1,...,C,C1,--.,C €ER,
co=dc,...,q=¢,00000.

00000000 (00)00b0o00U00Oo00O0.0ooooooooooooo.

00 207 (1pt.) ROOOOOOD00 VOOO {xy,...,x} (k0000)000000,vVO000
ooooao.

gboobobgooboobobooboa,ogboboobobuoboobobooboboooa
00000000000 (ooooooooog).

00 84 VO ROIODDODDODODODDDOUOO.ODOOD VOODOOODOOOO,0D0000.
e JOODOOODO.

e 000000D0DO0ODODODDO,00D00000D0DOO. D00O0OD VODDOOO,
dim(V)OD dimV OO0,

000000000000000000000000000. 000000000000000.
00 208 (Ipt.) ROODOOOOOO R'OODOOODO.

00 209 (1pt.) COOODOOOOOCrOO0ODOO0ODO.

00 210 (1pt.) ROODOOOOOO COOOOOOO.

00 211 (1pt.) QUUOOOOODD Q+QvV7:={p+¢/7|p,¢eQ}0DDDDDONO.

00 212 (2pt.) n0000000. QOODOOO000 Q+Qyn:={p+q/n|pgeQ}0ODO
oooo.

00 213 (1pt.) ROODODOOOO0O M,,(R) 0000000,
00 214 (1pt.) 00 1840, RO0000000 R,[«] 0000000,

00 215 (2pt.) 00 W= {(z1,29,...) eRY | 000 2,41 =2,0000 } 000000000
0000 1550000000, dmW 0000,

00 216 (2pt.) OO0 W = {(21,22,...) €RY [ 000 @49 = 32,41 — 22,0000 } 0000
000000000 1550000000, dmW O0000.

00 217 (1pt.) VWO ROODOODOOODOOOO. 00DV CcWOOdmV =dmWOOQO,
V=woooooooo.

*http://www.ma.noda.tus.ac.jp/u/rto/sched.html
{000D000D0000000, dimg(V) 00 dime(V) DO0.




83 UOuouoonbno

gbobooboboooobooooo,bobooobooboooon.

00 85 V,WOROODODOOOOO,7T:V—-WOOOOOOOD. 0000 Im(T)0 WOO
000000 (00 187). 0000 dimIm(7)0 T0000 (rank, 10) 000, rank(7) 00 0.

000 Ae M,,(R)DODD0D00000 A:R*"—-R™00000 (§7.200 15700), 00000
goboooooooobooobooboooboobooo 200000000, 0000000000A0
O000. 00219000 rank(A) 00000000000 OOO0,000000000 dimIm(A)
oooooooo.

00 218 (0 1pt.) 00 Ae M, ,(R)ODOD0. Pe M,,(R)0O Qe M,(R)D0D0D0O00000DO
0DO00.00000000.

(1). rank(A4) = rank(PAQ). (2). dimIm(A) = dimIm(PAQ).
00 219 (1pt.) 00 61000 2180000,00 AeM,,R)OOODODODO0OOOODO.
|0000000=00000 rank(A) = dimIm(A).

000000000000, k00000000 (CO0oO0oooooon) ay,...,a,eR*O000
goooooooooo.

L(ai,...,a;) :={c1a1 + - -+ crai | c1,...,c; € R}.

00 220 (1pt.) L(ay,...,ax) DO R*000000O000OOOOO.

O L(a1,...,a;)0 a4,...,, 000000000000COOOCOOO. 000O0O0OOOOOO
oobooooooobooobOo.obooobooooooooooboocoboooooooooboooon
00000000, 000000000000000000O00D000O00000 (OO0 222).

o0 221 (1pt.) kODOODOD0O aq,...,a, e R"O000,nx k00 AODDOODOODOOO.
A=(a; ay - ag).

gooooooo.

ooobz2190000000.

00 222 (1pt.) kO0OOOOOOO aq,...,a, € R*"0000,00 AOODO 2210000000
o,0b0o0oocooooon.
dimL(aq,...,ax) = rank(A).

gooooooao.

00 223 (0 1pt.) OO RYO00O0O0OO0O0000D0DOO WOOOOOOO.

(1). » (2):

S = O =
W = W
= O k= O
e
= ow o =
W O
[
w
O O = =



gooooobol1oboooboob100ooboobO. coboobobooooboooboooboooaon
oboocooOobooooooboooooa.

00 224 (1pt.) kOO0OOOD0OOO (DOOOOOOOOOO) ay,...,a,€eR*O0000,00 A
goo22100000000,00000000000.

{a1,...,a;} 00000 <= rank(4) = k.
00 225 (0 1pt.) 00 9(1-4)00000000000000.
00 226 (0 1pt.) 00 10(1-3)00000000000000

00 227 (0 1pt.) 00 19(1-3)00000000000000.

ooooooooUooOooOooooo. 7TV —-WwWOooooooo. 0oooooooooo (87.3
0o 7.1).
ker(T) = {v e V | T(v) = 0}.

00000000000000000000.000000000000000000000000,
ker(T) D000000000000D000000000O0000,000000000000000
000000, 00 dimker(7T) O dim(V) —rank(T) D000 (00 229. 00 200000000).

00 228 (1pt.)) Im(7) 0000 »rO000 (OO0 rank(7T) =r). Im(7T) 000 {wy,...,w,} 00
0. w,=T(v),i=12,...,r000veVI000,{wn,...,»}0000000000000.

0000 T7TO0000000000 (bOU0O0O0OOO0L0O0O0OO,0000000D0O0OOOOO0OO0)O
0,00000000000000000. 00dim(V)=n0000.00 2280000 {vy,...,v,}
Ovooooooooooooooooo,r<dm(V)0O0OO,000000000000 VOO
O {vy,...,vp,®1,...,2Zn_y DO0000. dimker(T)=n—r 000000, T(x;)=000000
Jooooboboobooooobo. bbb bboboo,00obbbbooooooo
00000000000, 00 T(e) 00 I(T) 0000000000, 00 {wi,...,w} 0 (O
ooo)yooooooo.

T(x;) = aywi + agiws + - -+ + 4wy,

00000 {ay,...,a} 0000y, eVOO00O0DOO.
Yi i=; — (1,01 + a2iv2 + - - + ar0y).

00 229 (2pt.) DOOODOOOO,

1) T(y;)=0,i=1,....n—r000O.

@) {y1,...,ynr} 0 ker(T)0D00O000DDOOO.

3) {v1,. . 001y Yny ) 0 VOOOOOODODOOODO.
000000 (2)00,0000000000.

| Oker(T)OOOO rank(7) 0000  dim(V) = dimker(7T') + rank(7).

0TOVOODWOODOOOOODO000,00000 Im(7)00000000 WOOO dim(W)
0000000000000. 000000 dim(V), dim(ker(T)), rank(T) 0000000000
000,00000000000.00000000000000000000000000000
0000.0000000000000.



00 230 (O 1pt.) OO 21(1-3) 00000 f*R? - R*0000,000000000000
dimker(f)0O00O.

00 231 (0 1pt.) OO 22(1-3) 00000 f:R® — R*0000, 000000000000
dimker(f)0O00O.

000000000000 00000,0000000000000000 (Ne.300). 00000
O00000,dimker(T) 000000, ker(T) 0000000000 DO0ODO0ODO0O0OOODOOOO
0000 (00 2300). 0000000000000 OD.

00 232 (0 1pt.) VWO ROOOODOOOOOO,T:V—-WOOOOOOOOOooO.
(1) TOOO < dimker(T) =0 <= rank(T) = dim V.

(2) TOOO <= rank(T) = dim W.

000000 3)Doooooooooo.

00 233 (1pt.) VOROOOOOOOO,T:V—-VOUOOOOOOO.O0OOOGOooOO.

TOOO < TO0O00 < rank(T) =dimV.

oboobooboobvooooor-v—-vioooobooooooooooooooooooo.
gbobooboobooooboobooooboobo,0boboooboobooooboobooooobooon.

00 234 (1pt.) OO0 16400000 ¢: V—-VOOOOOODDOOOOOOOODO.

00 235 (1pt.) OO0 16500000 »: V-V 0OOUOODOOOOOOOOOOO.

84 0000000 (0DOD)

0000000000000 0000000, dimker(A)D000000O00O0OO0O0ODOOOO. OO
gbooobOooboooobooboooooa.

00 236 (Ipt.) OO0 Ae M,(C)0 acCODOO0Y, D0000000DO.
ker(aF, — A) = {v e C" | Av = av}

0«00000000000000 ker(aE, —A)0D0D0O00OOOOOO, ker(aFE, —A)#0,O
00 dimker(aFE, —A)>1000 o0 ADOOD (eigenvalue) 000, ker(aF, —A) 000 000
0000000000 ADOUOQO «0000000000 (eivenvector), ker(aFE, —A) 0000 «
O0D000D00DO (eigenspace) JO00. 00000000000 OOOOOODOOOOODOOOOO.

00 237 (00000, 2pt.) Ae M,(C)0000,20 n0000 det(zE, —A)=000000
0000000,000000000000000000 (Hint: 00 115, 140, 233).

Ub00nxnOdO00OO0000n000000,00000000000n000000000.

6 -3 -7
00 238 (2pt.) OO0 A=|-1 2 1 jgdbogbooobooooboaoboan.
5 -3 —6

cosf —sinb

oo 239(2pt.)9€RDDD,DDA< )DDDDDDDDDDDDDDDDD

sinf)  cos®
gog.

iDoDODOD0ODODOO0OO0OOO0O0OOOOOOO.



